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DO YOU HAVE
A JOB?

Ravi! Is Venkateswarlu your
teacher?
Yes.

What is his native place?

Eluru. He has a house in this

town also.
How many houses does he have?

He has two houses. One is here

and the other is in Eluru.
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So, he has houses in two places?
How many children does he

have?

He has no children.

Narayana is Venkateswarlu’s
younger brother. Isn’the? How
many children does he have?

Four children.

Are they grown up or young?

All of them are grown up.

How many of them are girls and

how many of them are boys?

Two girls and two boys.

How old are they?

The eldest daughter is 31. She
has a daughter and a son. The
younger daughter is 25 years
old. The elder son is 28 years
old. He has good education.
But he does not have a job.

The younger one is 22.
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The eldest daughter is a writer.
Isn’t she?

Yes. She is one of the top
writers in Telugu. She is a

very good woman..

Is Venkateswarlu a good man?

Yes. He is also a very good

man.

And his brother?

He is also a good man. His
children are good persons.

They are all nice people.

Give this letter to Venkateswarlu.

kkosk

°5 oo &3]
| am handsome!

| have a degree!

25 B 540! at’iwo s3we?

Do you have a job?
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Giri! How many marks did you
get in Telugu?

I got sixtyfour percent.

How many did Hari get and how
many did Raju?
Hari got 70. Raju got 72.

How many did Susila get and
how many did Gowri.
Susila got 80 and Gowri 81.

Hello, Mr. Sarma! How many
marks did you get in
mathematics?

I got cent percent.

How many in science?

Ninetysix.

Kok

Hello, Mr. Giri! How many

brothers are you?

I have no brothers, sir! I am

only one.

Ms. Sarala! How many sisters

are you?
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I too have no sisters, sir! I am

also (only) one.

Hello, sir! How many brothers

are you?

We are three. I don’t have elder
brothers. I have two younger
brothers.

Do you have sisters?

I don’t have elder sisters, sir. 1
have two younger sisters.

Are your sisters here?

One is not here at present. She
is at my uncle’s house in

Vijayawada.

Doesn’t your uncle have
children?

He has male children, and not
female children.

Then, your uncle has sons and

not daughters!

Yes, sir! He has two sons.



DRILLS
a. Repetition drill
Model (i)
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Model (v)
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Model (vii)
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c. Interlocked Substitution drill

Model (i)
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Model (ii)
s00b) B ? (64) 2. 0 THTEENEY? (56)
T ©SITRONY). 3. b edmoniny? (28)
1. @@@3&%@? (34) 4. @ébé?ﬁﬁo@? (43)

Model (iii) TSTTH30S00H %39@0? (2 escs; 1 &5of)
(09) TIrTIH AQ edwYer, af DY Er.
(e&8) TSrTYDH agderoner a8 @sr)ow.
1. @808 JodHod Dow? (2 ed; 2 &)
2. JYB8 QosHod wow? (1 Ho)
3. 0NIH Jods0d Dewn? (1 ed; 1 &)

Model (iv)  orber! % 3eahs® Iy Srneo? (66)
T BoohS edesdy Srdnwo.
1. Tger] T S0F0E Q) Srdnen? (73)
2. Q| SH0H E5%0S D) Srdnwo? (95)
3. 00dl O Bofnd A Lrdnw? (86)

Model (V) 31 08 D000 @é‘lééwg’@o? (3)
0 S0 I BS2)©0.
1. AT D Dosssood ©S)e52)20? (4)
2. A8 DB Dosod eI)cSsne0? (2)
3. $086] B oss0od ©85)e52)20? (5)

Model (vi) 631 % Jodsod edsdmen? (0 - 2)
TH OIeo BW; agdd S50
1. rTSTEr DH JosHod edcsdmen? (2 - 0)
2. 081 A0 dodsod edsmen? (1 - 1)
3. Qod! W Joddod essmen? (2 - 2)

Model (vii) A8er] Qoth Dodood w9zBen? (3)
0 Shdo wHRBo.
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1. See B oS00 wRBEY? (2)
2. DB DB 05008 ©HZRB¢)? (4)
3. D) & D000 ©HEB¢)? (5)

Model (viii)

K Dosspod SHBBEE? oS08 ©HITEY)? (1-1-1-0)
TH 28 ©F), a8 S, af @ BJY) BS.

1. 0% oS08 @HSLne0? Josod wHBEB)? (2-2-1-1)
2. P o800 eHESen? Jodod wHRBeY)? (1-1-2-0)
3. D JoBH0d eHESen? Jodod wHRBeY)? (1-2-1-2)
d. Transformation drill
Model (i) Model (ii)

WD G wod. TH a8 ©F),

WL SIB B, WL D0BS3000 ©He?
1. 508 S0y 0. 1. 0% a8 ésﬁw&(fw.
2. %é@é& ¥ wok. 2. OQ8 28 E3rSod.
3. TYMOE Dot A%y wIow. 3. @88 2.8 DBew.
EXERCISES
a. Fill in the blanks with £ or §.
1. 8..... agd edDgen. 4. eTYTD..... DQLO B,
2. ... 28 SEDY. 5. @ODNI..... & wod.
3. D..... &&gi0 wow? 6. T..... AP DYD.
b. Answer the following questions using the cue words.

1. f%1 & T8mosyy? (78)

2. éabaé?f)f?o@? (32)

3. A& o eHokEosod Dew? (2 ed; 1 &)
4. 608 3eoihS ) Srdyee?  (84)
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5. D508 ) Sdnen? (93)
6. Qo 2reronmid &r? (Ssorew)

c. Fill in the blanks using the appropriate forms of the words given in

the parentheses as shown in the model.

Model.: .......... (983) Bofand’ s Srdnes.
38 20ADE’ @8 SrEyw.

Lo e (098:) BeodS’ &3 ) Srdnw.
2. e ($9535) 270BS" @8RS Srdnwo.
3 e, (08) DodL0d Pe0?
4. oo (7¢5) Dosrod e8=TFn?
5. e, (F4)) ) oo eamon?
B oo (B00) BeHS” I SEnes?
7 e ($050) D) Srnpwo?
8. e (3008) Dodood DYeo?

d. Give the plural forms of the following.
@9555‘2033 SO Veb)
Erajalovs B
A NINIOPvey
A DB
96D S

e. Match the following.
1. 3o ©. S00DTE ( )
2. & Yz @9, S0V ( )
3. & Dy Q. 00D ( )
4. 980 &, 00O ( )
5. e003 €. DO C ( )
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f. Combine the following.

v + & = ¥ + 8 =
& + & = sy + & =
S + § = A + 0 =
A + @0 = Erdo + @ =

g. Answer the following questions as shown in the model.

Model (i)
W8 JoSS5008 eI SBme0? (1-3)
200 VB0 BB, T 2.8 &), SMR S50,
1. 8 od $0d eScsEeo? (2-1)
2. & Jod ok eSdsmen? (1-2)
3. 8 Dod $0d eSsEeo? (1-1)
4. 08> od 500 wHsEeo? (2-2)
Model (i)
D Josod wHBEBEY? (1-2)
0 SO0 WHBVBEH0. TH 2.8 @Y, A IJLY).
1. D8 dod Hood wHRBeY)? (2-2)
2. B Jod Hood WHRBEY)? (1-2)
3. W& dod Hod wHRBeY)? (1-1)
4. D8 od Hood wHRBe)? (2-1)
Model (i)
D dosod wHBEBEy? (1-0)
D0 BEE0 @HBATE0. TH 2 @, VB B,
1. D8 dod Hood wHRBe)? (0-2)
2. B Jod B0k wHRBe)? (1-0)
3. W& dod Hod wHRBe)? (0-1)
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VOCABULARY

-8 /-8  dative case suffix

&&gfo  job; employment

& village, town

OTS Eluru (a town)

) locative form of

€38 (“in the town’)

) plural form of ¢
(‘villages/towns’)

“o)cg big; large; elder

zﬁ)é‘l small; little

s female

30 male

D%ﬁ)@ plural of A (‘years’)

NS year

SIS gil

SorfearE boy

Y human epicene honorific
predicate marker
(See 134

—) human epicene plural
predicate marker
(See 134

80 letter

9080 beauty

&0 degree

Nuev)) mark (n)

EToN) sixty

224

Ce2d J
SN
SEHe0
Se38
Qos&Go
0D
57

>

-& (fem.)

¢

D23030a°Ce
22O

NVIoY)
2)
S08

©J)
@Dé&ﬁ@@?\)ﬁ)
@)
B30

Q0

seventy

cighty

mathematics

per cent

year

education

but

very (adv.)

feminine non-honorific
predicate marker
(See 134

masculine non-honorific
predicate marker
(See 134

Vijayawada (a city)

father’s younger brother;
mother’s younger
sister’s husband

hundred

science

ninety

elder brother

sisters

elder sister; @ézroﬁog

at present, currently

locative case form of 2

(‘in the house’)



Lesson 13
GRAMMAR NOTES

13.1. In this lesson the dative case suffix -£ /-8 -ku/~kiis introduced.
-§ -ki occurs after the oblique bases ending in 2 7or € 7. The €5 fending
oblique bases of the second person pronouns & n7and &0 mi are exceptions.
-% -ku occurs after the other oblique bases including the € 7ending oblique
bases of the second persons & nfand &0 mi. (See 8.9. and 8.9.1. for
information about the oblique bases.)

-8 atani-ki ‘to him (eql.)’
>&-§ vadi-ki ‘to him (inf.)’
>0-8 dani-ki ‘to it; to her (inf.)’
50-§ ravi-ki ‘to Ravi’
£06y-8 kurci-ki ‘to the chair’
8¢38-8 ki iki-ki ‘to the window’
S0NI-8  ayana-ku ‘to him (hon.)’
San-5 ame-ku ‘to her (eql. & hon.)’
-5 na-ku ‘to me’
S0Y-  talupu-ku ‘to the door’
D-% ni-ku ‘to you (non-hon. sg.)’
- mi-ku ‘to you (hon. sg. & pl.)’
do-% Iila-ku ‘to Leela’

13.2. The dative case suffix - /-8 -ku/-kihas many functions in Telugu.

Some of them are introduced in this lesson. They are as follows:

13.2.1. The dative case suffix is added to the noun denoting the recipient,
i.e., one who gets or receives something. Here its function is ‘benefactive’ (=
“for the benefit of*).

1. o & Y% Qs lilaku I pustakaM ivvu. ‘Give this book to Leela’
2. 68 Sw0 150G, raviki kalaM ivvaMdi. *Give the pen to Ravi.’

3. 508 e0o S8y, hariki aravai markulu. “Hari got sixty marks.’
4. e 03y Sr0)e0. rajuku yabhai markulu. ‘Raju got fifty marks.’
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13.2.1.1. Notice the difference between the sentences 1 and 2, and 3 and
4 above. The sentences 1 and 2 have the verb meaning ‘give’. They have also
the benefactor (i.e.,one who gives) which is implied since they are imperative
sentences. The sentences 3 and 4 do not have the benefactor (the giver). They
do not have the verb either. We will present more details at a later stage in this
aspect. But in all the four sentences the nouns inflected by the dative case suffix

are the recipients.

13.2.2. The dative case suffix also expresses ‘possession’. Here its func-
tion is ‘possessive’. The noun phrase denoting the person or thing who or
which possesses something takes the dative case suffix. Such sentences use the

existential verb, with certain exceptions which are explained below:

&8 S wod. ataniki caduvu uMdi. ‘He has education.’
20 AW &co. ameku illu Iédu. ‘She does not have a house.’
S8 vy S&o. ataniki illu leédu. ‘He has no house.’
QHE BQD wew. sugupaku iddaru pillalu. ‘Suguna has two children.’
e90503% Do 8. dyanaku pillalu leru. ‘He has no children.’
S8 w0 8. ataniki annalu leru. ‘He has no brothers.”
20 QB ééﬁo&&%‘a&. ameku iddaru tammullu.

‘She has two younger brothers.’

13.2.2.1. Recall the sentences

So° ereronmds S woNSo. ma babayigariki kodukulu unnaru.
‘My uncle has sons.’

o 2TeraRmds wgdy . ma babayigariki iddaru kodukulu.
‘My uncle has two sons.’

A OHRBYY) w\O? miku akkajelle/lu unnara? ‘Do you have sisters?

WL oS00k Doen? miku eMiamaMdi pillalu?
‘How many children do you have?

Notice from the above sentences that the affirmative form of the exis-

tential verb is not normally used when the kinship noun is qualified by a numeral
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adjective. However, the affirmative form of the existential verb when used in
such cases - i.e., when the kinship noun is qualified by a numeral adjective -
adds an emphasis to the aspect of ‘possession’.

958 acgéo §¢ooen. ataniki iddaru kodukulu. ‘He has two sons.’
€958 ’and} S0 . ataniki iddaru kodukulu unnaru.
‘He has two sons.’

13.23. The dative case suffix is also used with the nouns denoting the
objects whose age is expressed.

58 D& D%‘o{;. raviki padi é[Ju. ‘Ravi is ten years old.’
G0 T D%@). ramaku nalugu é/jfu. ‘Rama is four years old.’
o0 é)éaréa 60&%‘%509. ma kukkaku reMdé[[u. ‘Our dog is two years old.’

In such sentences the existential verb is not used. (If the existential verb used
it adds an emphasis on the age, as in the case of ‘possession’ stated in 13.2.2.1.)

13.3. Notice the use of the pronominal predicates (9.1.) in sentences like:

06 & &S? midi & aru? ‘What is your native place/home town?.’
35"%@& Q &% valladi & dru? “What is his/her/their native place/home town?’

Nominal predicates are also used in such sentences as in

3D& & &O? ravidi & aru? ‘What is Ravi’s native place/home town?.’
Q2nodgh oS, subbayyadi guM dru?
‘Subbyya’s native place/home town is Guntur.’

13.3.1. Recall the concept of ‘collective possession’ introduced in lesson
5(5.9.) as in expressions like S5° ®e ma illu ‘my house’, &5 TS ma
nanna ‘my father’, etc. €& dru ‘village/town’ is also a noun which falls in
the category of ‘collective possession’ and hence the plural pronominals are
added as in o €8> ma dru ‘my/our native place/home town.’

13.3.2. €38 ma drumeans ‘village’ or town’. When used with a pro-

nominal or nominal predicate it means ‘native place’ or home town’.
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134. Recall the neuter predicate markers & d7 (sg.) and 2 v7 (pl.) which
are added to adjectival bases in order to change them into predicates (9.1.). In

this lesson the following human predicate markers are introduced.

-°¢® -vadu is the masculine non-honorific singular predicate marker
-& -diis the feminine non-honorific singular predicate marker

-°& -varuthe human epicene honorific singular predicate marker
—%Y) -va/[u the human epicene plural predicate marker

0N /€80 /e8I /380 00T, ayana/ame/avida maMcivaru.
‘He/She (hon.) is a good person.’

3 00 eéd. ravi maMcivadu. ‘Ravi is a good person.’

©& oA&. lata maMecidi. ‘Lata is a good person.’

AT DOVTD. ravigaru maMcivaru. ‘Mr. Ravi is a good person.’

OB DOVTD. latagaru maMcivaru. ‘Ms. Lata is a good person.’

¢ /@98 /800S0, vadu/atanu/ayana maMcivadu.
‘He is a good person.’

) S0, vallu maMcivallu. “They are good persons.’

134.1. Notice that the predicate markers —°¢é> vaduand -& -di are
not restricted to ‘inferior’ category in the degrees of respect. Even they are
also used when the subject pronoun is an honorific one such as esodS ayana
and e20/esd ame/avida.

0D DOV, dyana maMcivadu. ‘He(hon.)® is a good person.’
92 /€82¢6 DO, ame/avida maMcidy. *She (hon.) is a good person.’

These expressions are more informal rather than honorific. But the

honorific predicate marker —a& -varuis used in more formal situations.

134.2. The predicate markers are nothing but pronouns used as suffixes.
& di(sg.) and O v are the shortened forms of the pronouns @& adi and e
avi respectively. As such, the oblique bases of these predicate forms are

similar to the oblique bases of the respective pronouns.
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Predicate form Oblique base
00T  maMcivadu 00Dt maMeivadi
S00VE  maMcidi S0V maMcidani
S0V maMcivaru S00V®  maMcivari
00D maMcivi 00> E maMciva i
aﬁao&w@é@ maMcivallu aﬁaoi’)a"% mabMlcivalla
134.3. The following are the expressions showing various degrees of re-

spect in third person.

Masculine inferior singular :

T 0. vadu maMecivadu. ‘He is a good person.’
Masculine equal singular :

S oW,  atanu maMcivadu. ‘He is a good person.’
Masculine honorific singular - informal :

ORI oW ¢.  ayana maMcivadu. ‘He is a good person.’
Masculine honorific singular - formal :

300S 0T . ayana maMecivaru. ‘He is a good person.’
Feminine inferior singular and neuter singular :

@8 oN&. adi maMcidi. ‘She is a good person.’
Feminine equal singular

0 oW, ame maMecidi. ‘She is a good person.’
Feminine honorific singular - informal:

B /BAG 00DQ.  ame/avida maMeidi. *She is a good person.’
Feminine honorific singular - formal:

€90 /€3¢ DOV,  ame/avida maMcivaru. *She is a good person.’
Epicene formal or most honorific singular :

T 0oW.  varu maMecivaru. ‘He/She is a good person.’
Epicene plural :

) 0.  vallu maMcivallu. “They are good persons.’
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Neuter plural :

®D NOAD.  avimaMecivi. ‘Those are good things/animals.’
inferior & equal :

8D oore. ravi maMcivadu. ‘Ravi is a good person.’
inferior & equal singular :

©& DoNG. lata maMcidi. ‘Lata is a good person.’
Masculine honorific informal :

SIS D0a>e®. ravigaru maMecivadu. ‘Mr. Ravi is a good person.’
honorific informal :

OSSR OO, latagaru maMcidi. ‘Ms. Lata is a good person.’
Honorific formal :

BAMED / ©SMCd Q00T . ravigaru/latagaru maMlcivaru.

‘Mr. Ravi/ Ms. Lata is a good person.’

13.5. When the plural suffix -0 -/zis added to the —-¢& -du ending
nouns the —¢& -du and -> -/u merge together and become - -//u.

A + @0 = 9 edu+lu = élfu. ‘years’
eé&ﬁoo&céa + 0 = ééﬁw&%@ tammudu+[lu = tammul/u. ‘brothers’

But, remember that the nouns borrowed from Sanskrit drop their final —¢& -du
5.72).

13.6. Some of the -8 -ru ending nouns also behave like the above
mentioned (13.5.) -¢& -duending nouns when plural suffix -0 -/zis added.
Two such nouns are ¢8> aru ‘village’ and §5°&080 kituru ‘daughter’.

&R + o0 = %B%Q aru + lu = allu ‘villages’
Sl + @0 = é:"éo@;éo@ kituru + lu = kartullu ‘daughters’

Since all the -& -ruzending nouns do not behave like this a mention will
be made as and when such nouns are introduced. However, the -& -ruzending
nouns borrowed from English such as c‘s’gd) dak aru ‘doctor’, & karu ‘car’,
etc. do not behave like this.

230



Lesson 13

Cs"géo + o = c;"gég* dak arlu* ‘doctors’
50 + @ = 50O * karu + lu = karlu* ‘cars’
BSS + oo = éﬁnﬁég* icaru + lu = icarlu* ‘teachers’

An example for a Telugu noun which does not change the final & ru
along with the plural suffix @ /u remains without changing to &) //u is ESle
péru ‘name’.

D + @0 = O* péru + lu = pérlu* ‘names’
*For sandhi see 5.8.1.

13.7. weo pillalu‘children’ is epicene plural.

13.8. The plural form of esctow adapilla ‘girl’ is escowed adapillalu
‘girls” and the plural form o0 magapillavadu ‘boy’ is S
magapillalu ‘boys’.

13.9. Notice the free variation between the words 6—9555‘2033 ammayi
(7.7.) and es&&®Q adapilla *girl’, and similar free variation between eser)o
abbayiand orwr  magapillavadu ‘boy’ in sentences like the following.

ODILH VYW smaned /estwees. ‘He has two daughters.”
ayanaku iddaru ammayilu/adapillalu.

S0 2.8 @20 /oA DY CE. ‘She has a son.’
ameku oka abbayi/magapillavadu.

But, the words 6—9555‘2033 ammayi (7.7.) and @200 abbayi cannot be
replaced by escS®® adapilla and S>80QT > magapillavadu respectively
expressions like the following.

e ©3m00 miI ammayi ‘your daughter’
Oo° @200 ma abbayi ‘my son’

& ©00700 2 ammayi ‘that girl’

& @2 ow T abbayi ‘this boy’

000 @00 maMeri ammayi *good girl’
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00w eea0 maMci abbayi ‘good boy’
The rule is that the nouns @9&55‘2033 ammayi and eeroX abbayi cannot be
replaced by escS®@ adapilla and S50 magapillavadu respectively
when the nouns are qualified by an adjective other than a numeral adjective.
13.10. & + & = &€ imru + 10 = 1Jo “in the village/town’. Cf. ¢
aflu ‘villages’(13.6.).

13.11. @& akka and ©%0305 akkayya (lesson 7) ‘elder sister’ are
variants. Similarly, @) anna and ©3\cDg annayya (lesson 6) ‘elder brother’.

13.12. @éz@@%@ akkajellellu ‘sisters’ @9535)3&333&@0 annadammulu
‘brothers’ are compound words. They are combinations of ©@5+d8e0 akka
+ cellelu and @) +850)> anna+tammudu respectively.

13.13. In this lesson numerals from sixty to hundred are introduced. Recall
the numeral formation beyond twenty introduced in lesson 11 (11.7.). Same
pattern is followed for the numerals upto hundred.

o0 aravai ‘sixty’ @é) debbhai ‘seventy’
OS2 enabhai ‘eighty’ &0z toMbhai ‘ninety’
3580 naru ‘hundred’

As stated earlier (11.7.) numerals 2,88 oka 7 ‘one’ to 83)3@& tommidi
‘nine’ are added to these numerals (except 35°8 ndru ‘hundred’) to form
numerals such as @é@&é@ﬁ aravaioka i ‘sixty one’, G2 Q&il?"(fa) debbhaimiidu
‘seventy three’, )53 enabaidru ‘eighty six”, 80508 toMbhaienimidi
‘ninety eight’, etc.

13.13.1.  35°¢3- nd i-is the oblique base of So°& ndru ‘hundred’.
S¢38 S3°C> nid iki niru ‘cent per cent’
A IrB8 @8 Srdnes. “You got 60%.

miku ni iki aravai markulu. ‘cent per cent’
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13.13.2.  Notice the difference between the expressions

1. 08> Josod eSSSmeo? ‘How many brothers are you?’
miru eMtamaMdi annadammulu?
2. 0% oS00 @élééw&&)? ‘How many brothers do you have?’

miku eMtamaMdi annadammulu?

In the first expression the listener of the sentence is also included in the
number of brothers where as in the second expression the listener of the sen-
tence is excluded.

13.14. Notice the difference between

1. % Soged . ‘Tam in my 46th year. (I am 45 years old and
naku nalabhaiaro édu. the 46th year is in progress.)’
2. % JoPedd I¢Y). ‘Tam 46 years old.’

naku nalabhaiaru éllu.

Both the sentences express age. The first sentence expresses the age in ‘cur-
rently progressing year’ and the second sentence expresses age in ‘completed

years’.
13.15. 5°Q kani ‘but’ is a conjunction.

S8 KON WY wod; T wlgio B,
ataniki maMeci caduvu uMdi; kani udyogaM lédu.
‘He has good education; but no job.’

13.16. Notice the following sandhi process.
A short vowel occurring between o¢d M and & /is dropped.
Q08+&° = aoé§f IM i+16 = iM 16 ‘in the house’.

20& M iis the oblique base of @20 illu ‘house’ (8.8.).
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